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Reasoning Ablity
Directions (66-70): Study the following
Information carefully and answer the below

questions
Tonpenons~.M,y(.p/.f/.Q.}(.)9/.)/.mdy/ 1 H
are attending the conference on two different
dates either 9 or 11 of five different months- Jon @ —
January, May, August, October, and December S
M”ﬁ 2 -
89) Which of the following statement s true? O T
a) N and O attending on the same month M — —
b) Q and P attending on the same date
c) No one attends after O 0 3 _Cz "'
d) Two persons are attending between R and N Uk
|y, - ;{,

« ‘€)M attends immediately before R

- -

persons attending between L and N is the same
o e
as the number of persons attending between R

and_P.PandOareaMndmgmeoonbrenoeon @ =

different months.

Directions (71-73): Study the following
Information carefully and answer the questions
glven below.

A person from point F drives towards the south
for 3km to reach point B. where he takes a left

73) Whatlis the shortestdistance between the
pointsKand F?

a) v22km

b) 2v6km

c) Skm _ -

\Mm

e) None of these

\

sSlops at point Y, which IS 3km 10 the west of

point K.
F-/q N




74) It itis possible to make a meaningful word, & p \ CH M E N T -
using the third, fourth, sixth and elghth letters

from theleft end of the word 'RAVISHMENT",

then what|s the |ast |etter of the word formed? If \J 1 W f;
no such word Is formed, markthe answeras 'Y",

If more than one word can be formed mark the

answer as ‘X. H'\\/P/
a)D

b)L

o)X

4y

e)

75) How many such pairs of numbers are there g@ 2
In the number “81346528" each has many — ‘ 7
numbers between them as In the numberseries

a) 1

»E st

¢c)3
d)4 '
e)w four

Six persons-P, Q, R, S, T, and U are sitting on
the circular table and facing centre. They like
different fruits- Banana, Mango, Apple, Peach, :EJ‘ - -
Chermy, and Orange. All the information is not

naceccanlv in the cama arder

MWMMIOMWW
a)C

b) Orange
c) Banana

v d) Apple
e) Peach

~. 78) Who among the following person sits third to
" the leftof T?

aP

bR

¢) The one who sits second to the left of S

d) The one who likes Chemry .

e)S

- 79) Which of the following combination Is true?

a) T- Orange 70

b) S-Mango /
c) R-Peach

d) Q- Cherry



b)S-Mango
¢) R-Peach
d) Q- Cheny
e) R-Banana



